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Z=5+0| Q| Al
EER0 EXBA(REUT AN /X ALEAI)
N AMUlA &4 (S :®2)
A BB O(B) - NEAY - BAS sy S RS2
0 & o

OF=3=i:] 2,300,000& 2,300

02 23234l 7,344 6,100 1,244
OS223 XA 1,500,000& 1,500
OA&EEHI = XU 5,844,000& 5,844

202 (4 H| 6,480 8,640 A2,160

01 =LA bI 6,480 8,640 A 2,160
OXN&EA XS FFE 6,480,000& 6,480

g NEZSE 2tel 115,340 32,840 82,500
= 2,300
= 113,040

EX0ls 2el 115,340 32,840 82,500
= 2,300
i 113,040

201 et 50,900 21,200 29,700

01 AF2 2| 49,900 20,200 29,700
Oget=&H| 16,000, 000& 16,000
OF=3=i:] 2,400,000& 2,400
OXNA JI&8 &X =& === 31,500,000& 31,500

02 2224l 1,000 1,000 0
OAl 4 & HI = X8I 500,000& *23| 1,000

202 O4dl 10,940 8,640 2,300
= 2,300
i 8,640

01 =LHOA b 10,940 8,640 2,300
OEXOSHE HRFX 8,640,000 8,640
O=HIE=AtS 2,300
—AHAF(NELR =) 2,300,000& 2,300
= 2,300

207 ALY 10,000 0 10,000

02 & &Nl 10,000 0 10,000
OXNEHZM &tst 10,000,000& 10,000

405 Kot S| 43,500 3,000 40,500

01 &L 2EFSHI 43,500 3,000 40,500

OXNAHINIEE ZAE IXNEEANLE 2

3,500,000 14 3,500
OGPSE=E &l 7 40,000,000 =14 40,000

MZE=ATIH & 352,573 163,680 188,893
= 2,000
= 350,573

CEY Y AHASYHS 2E 2,000 7,840 A5,840
= 2,000

401 A &HIZL 2048 2,000 7,840 A5,840




SN BRI
HH: 58X EXNV(RELNANL/NALTAI
SRl MEAM & (el &2
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
= 2,000
01 Al 2,000 7,840 75,840
SETI=EINE 2,000
—T2T S2YW L 2,000,002 2,000
2 2,000
CRYUFL FUAY 350,573 155,840 194,733
201 L2yl 29,833 24,600 5,233
01 ALR eIt 23,583 15,900 7,683
ogsr+gH| 16,360, 0002 16,360
o2gsy 1,500,000 1,500
ozl 1,800,000 1,800
Oc2Yz4 28 2232 AN
1,923,002 1,923
OZEFY 2Y7Y 22 MF2 SUE M
2,000,0002! 2,000
2 222 6,250 8,700 A2,450
OZZLIUMA 6,250,000 6,250
202 01t 6,480 6,480 0
01 2Uhoit] 6,480 6,480 0
OE2EFA A =X 6,480,0002! 6,480
01 LB 24,760 4,760 20,000
10 BAHAEI B4 S 24,760 4,760 20,000
OSHCR2YRNARE AT S
7,0002 202 +25] * 175 &1 4,760
OS2YF4 2N A2y
5002 40,0007 20,000
401 AIZHIL 2O 289,500 15,000 174,500
01 Al 289,500 115,000 174,500
OS2 AlES & 289,500
—C2RYF4 EE WS S8 ML
10,0002 *25, 000JH 250,000
—HSHSTH(ARER, HE)RK, &L
15,0002 3004 4,500
—SERYB(NALR, fE) KX, LT
500, 00021 *707H 35,000
HEBAIXIOL 22 139,907 133,086 6,821
HEBAIKIOb T AHAH 139,907 133,086 6,821
101 2121t 31,042 29,886 1,156
VIBEBTEES TP 31,042 29,886 1,156
OMEBAIKIF ZAF 0l 31,042
—2011E 1212 JIE ZAME 23,516
= 34,9002 52§ ¥1002 17,450
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SN BEolRa

= =
Hu: 52N0 EN(ZELXANL/NALTAI)
£ b2tel

SR OH JS;AIXIJ =2 (¢t &
SA - EH .S (BH) - MBAY - B 0] Ak 21 gggf; HRS2
e 34,900& x5% x20 3,490
4B E S 20,940,000& x12.3% 2,576
—20118 781 JIE ZAAHA 7,526
JlE2a 34,900& x2H «80 5,584
=5 34,900& x2H x 16 1,117
4B E = 6,701,000 *12.3% 825
201 Et23d| 94,725 91,900 2,825
01 At22tell 87,575 84,750 2,825
Oget=2H| 82,655,000& 82,655
osg==g 2,520,000& 2,520
(OF=2=1s] 2,400,000 2,400
02 ss29H| 7,150 7,150 0
OZ2Z22=2YLHA 7,150,000& 7,150
202 04 8,640 10,800 N2,160
01 2| 8,640 10,800 A2,160
OMESAIRXI SRFA 8,640,000& 8,640
301 2EtEAZ 500 500 0
12 JIEtE A2 500 500 0
ORSASHY R AN A2
500,000& 1A 500
405 KHAHFE S| 5,000 0 5,000
01 XML ESFHSHI 5,000 0 5,000
OMESAXIOL & ZAS AMAE 2
5,000,000 * 14 5,000
HYSHHH(SE UL (IIEHIIE) 28,510 29,620 ~A1,110
Jl23&Hhl 28,510 29,620 A1,110
Jle&d| 28,510 29,620 A1,110
201 B3| 11,710 12,220 A510
01 At22teldl 11,710 12,220 A510
Ogdet=2H| 11,710,000& 11,710
202 (4 12,600 13,200 A 600
01 =2 12,600 13,200 A 600
SHSE (A, HOIL &4 =)
12,600, 000& 12,600
203 PR =&l 4,200 4,200 0
04 2A2ILERF=EHI 4,200 4,200 0
ORNSHLRFAH| 4,200,000 4,200




